100m —Xk
148 (+0.2)
L—> FUnN— K £ AT B B A L IE Az
1
2 3-4234 P S o) ERKX-1-FE 11733 3
3 3-4231 = LE ERX -1 B 117047 5
4 3-687  IUA tHAH] ERX -2 - 5[ DNS
5 3-647 rE BEH ERX-3-HE 11720 2
6 3-651 R —B ERX -2 T 11720 1
7 3-623 R O ERX -3 dtEE 117041 4
8 3-4211 we B ERA -1 - &EE 117048 6
2%8 (+1.5)
L—> FunN— K £ A B CREN IE Az
1
2 3-673 FIR A0 ERX-2-HR 11780 6
3 3-5046 AH+E HE3L ERX-1-88 11760 3
4 3-604 oA EERX -3 - 5[ 11779 5
5 3-689 B BIE ERX -2 - 5[ 117068 4
6 3-4244 WHE EiE ERX-1-8HF 11757 2
7 3-5047 A BA ERX -1 - 5[ 11790 7
8 3-666 ErK &8 ERX -2 #@A 117053 1
348 (-0.6)
L—> FUnN— K £ A = CREN IE Az
1 3-4226 Bl K ERAX-1- FTE DNS
2 3-4246 27 HhE ERAX-1-HE DNS
3 3-5052 By & ERAX-1-%E 11775
4 3-5054 AR ET ERX -1 - 5[ 71
5 3-624 #ll #wE EERX -3 - 5[ DNS
6 3-4221 Mg  ABR ERX -1 - 5[ 11740
7 3-606 EA & ERX -3 FTE 117055
8 3-598 ER & ERX -3 L8 107095
100m =X
148 (-0. 8)
L—> FUNnN— K £ A B CRN IE Az
1
2 3-4221 Mg  ABR ERX -1 - 5[ 117046 5
3 3-651 R —B ERX -2 FTE 11727 3
4 3-598 ER & ERX -3 L8 107094 1
5 3-647 rE BEH ERX-3-HE 11722 2
6 3-4234 FR thtd ERK-1-FE 117047 6
7 3-623 TR O ERX -3 dtiEE 117044 4
8 3-4211 wne B ERAX-1-EE 11759 7




248 (-0.7)

L—> FUnN— K £ A B CREN IE Az
1
2 3-568 R AKX ERK-4-FHR 11703 1
3 3-4244 WHE EiE ERX-1-@8HF 117059 3
4 3-666 ErK 18 ERX -2 - #@A 11#70 6
5 3-606 EA = ERX -3 FTE 11749 2
6 3-5046 AH+E HE3L ERX-1-88 11769 5
7 3-689 BN BIE ERX -2 - 5[ 117065 4
8 3-5054 AR ET ERX -1 - 5[ 11778 7

348 (-0.8)

L—> FunN— K £ A B CREN IE Az
1
2 3-664 18 e ERK-2- FE 1714 1
3 3-5047 A BA ERX -1 - 5[ 11797 3
4 3-5052 By & ERAX-1-%F 11795 2
5 3-604 A EERX -3 - 5[ 12703 4
6 3-4226 Bl K ERAX-1- FTE DNS
7
8

200m —X

148 (-0.5)

L—> FunN— K £ A = CRN IE Az
1 3-604 KB g EERX -3 - 5[ 245522 8
2 3-689 B BIE ERX -2 - 5[ 23Fp15 6
3 3-4237 Frh EE EHERX-1-FE 23712 5
4 3-614 ZMB ¥ ERX-3-5#% 227523 2
5 3-598 ER & ERX -3 L8 21756 1
6 3-651 K —B EHERX -2 FE 22Fb67 3
7 3-623 TR ERX -3 duiEE 227»84 4
8 3-686 1IN ERX -2 HK 23738 7

248 (-0.2)

L—> FUnN— K £ A B CRN [EXiva
1 3-611 ER OHEE ERX -3 X% 24F575 6
2 3-661 AI5E At ERKX-2-¥8 23769 3
3 3-615 INE — AR ERX -3 FFE 227065 1
4 3-4211 we B ERAX-1-&EE DNS
5 3-4244 WHE EiE ERX-1-8HF 23769
6 3-666 ErK 18 ERX -2 - #@A 23%b57
7 3-678 FH A ERX -2 diEE 247505
8 3-624 #ll #wE EERX -3 - 5[ DNS




348 (-0.5)
L—> FUnN— K £ B B CREN IE Az
1
2 3-5050 =ik B’E ERXAX-1- T 245038 7
3 3-4221 Mg  ABR ERX -1 - 5[ 227091 1
4 3-666  NER B ERX -2 #HK 237061 4
5 3-663 Hith FE ERX-2- 88 23713 2
6 3-5054 AR EfT ERX -1 - 5[ 23760 3
7 3-4224 Ek FE ERX-1-HK 245012 6
8 3-4256 Eig2 NE ERX -1 - 5[ 245500 5
200m =%
148 (-0. 4)
L—> FunN— K £ B B A L IE Az
1
2 3-663 Hith FREH ERX-2- 88 235022 6
3 3-615 INE — AR ERX -3 FFE 227568 2
4 3-614 ZMB ¥ ERX-3-5#H% 21785 1
5 3-651 K —B ERA-2- FE 22F)74 4
6 3-623 R O ERX -3 duiEE 22F073 3
7 3-4221 Ng  ABR ERX -1 - 5[ 227595 5
8
248 (-1.5)
L—> FunN— K £ B B B A L =X iva
1
2 3-661 Al Rt ERX -2 ¥8 237065 5
3 3-666 gy N ERX-2-#@A 237061 4
4 3-689 B BIE ERX -2 - 5[ 225597 1
5 3-686 WA 5 ERX -2 HK 235024 2
6 3-5054 AR EfT ERX -1 - 5[ 245004 6
7 3-656  NER Bt ERX -2 #HK 23750 3
8
3% (-1.9
L—> FUNnN— K £ A = CREN [EEiva
1
2 3-5050 =ik B’E ERAX-1- FTE 247031 5
3 3-678 FH AW ERX -2 diEE 23799 2
4 3-4244 AR A ERX-1-8HF 23%73 1
5 3-4256 Eig2 NE ERX -1 - 5[ 24518 4
6 3-4224 Ek FE ERX-1-HK 245014 3
7 3-604 XB = ERX -3 - ##H 24751 6
8




3000m SR

ORD. F2/N— K £ AT == A I [[=Liva
1 3-4240 IR ERK -1 LA 943435133 10
2 3-634 B BX ERX -3 Bl 94313713 5
3 3-4229 Fai NI ERX-1- 58 104352534 12
4 3-631 tH  Fsh ERX-3-HE 94>017b16 3
5 3-674 = OHEK ERX-2-5F 84>55F)89 1
6 3-646 =EH HE ERX -3 FTE 94332F81 9
7 3-685 EHE SEPUER ERK -2 hid 94>08%b85 4
8 3-4250 WH ST ERX-1-88 94>00%b56 2
9 3-643 MR BEX ERX -3 - 5[ 94328Fb41 7
10 3-669 kg LE ERX-2-HR 943555022 11
11 3-637 T8 WS ERX -3 FTE 94329Fb48 8
12 3-4238 B =T EEXX-1- L0 94323F79 6

110mH —XR =& :106. 7cm

148 (-0.8)

L—> FUnN— K £ B B CREN IE Az
1
2 3-4226 =N | ERAX-1- FTE 165523 6
3 3-659 Bk B ERX -2 &k 14096 5
4 3-653 R4 BAEK ERK -2 - 5 14%b45 2
5 3-568 MR #BK ERX-4-HE 145520 1
6 3-575 4 X ERX -4 -B5F 145087 4
7 3-650 BFEARA EX ERAX-2-%E 14771 3
8

248 (-0.3)

L—> FUnN— K £ A B CREN I Az
1
2 3-5049 XE A EERX -1 & 167051 4
3 3-628 ZH hF ERX -3 ¥8 DNS
4 3-667 EeAR fi ERK -2 - 5 DNS
5 3-4236 ®O B ERX -1 - & 155036 2
6 3-664 1S Rt ERX -2 FTE 155006 1
7 3-4219 Fl F58 EHERX-1-FE 167003 3
8

110mH =Xk =& :106. 7cm

148 (-1.3)

L—> FUnN— K £ B B CEEN IE Az
1
2
3 3-650 BFARA EX ERX-2-%E 145077 4
4 3-568 A #BE ERX-4-HE 14%010




5 3-653 R4 BAEKR ERX -2 - 5[ 147036

6 3-575 4 X ERX-4-5FE 147077

7 3-659 Bk B ERX -2 &k 15709

8
248 (-0.8)

L—> FUnN— K £ A B B A L IE Az

1

2

3 3-4219 A T4 ERA-1- FTE 167022 4
4 3-4226 Bl K ERAX -1 TE 157005 2
5 3-664 18 s ERK-2- FE 14799 1
6 3-4236 #0 8§ ERX -1 - &k 157529 3
7 3-5049 KZE A ERX -1 - %H 17705 5
8




